ITEM 7



Travis County Commissioners Court Agenda Request

Meeting Date: November 6, 2012

Prepared By/Phone Number: Loren Breland, 854-4854 Elected/Appointed Official/Dept. Head: Cyd Grimes

Commissioners Court Sponsor: Judge Biscoe

Agenda Language: Approve contract awards for Sheriff Uniforms, IFB #120219-LD, to the low responsive bidders.

A. Miller Uniforms, All line items in Groups A through M, V, X, Z, AA, BB, Line items 33-01, 33-02

B. GT Distributors, Groups S, T, U, W, Line item 34-01

➤ Purchasing Recommendation and Comments: Purchasing concurs with department and recommends approval of requested action. This procurement action meets the compliance requirements as outlined by the statutes.

These contracts will provide Sheriff uniforms.

Bid #B120219-LD was issued on July 17, 2012 and 2 bids on August 13, 2012. The Sheriff's Office has reviewed the bids and recommends contract awards to the lowest responsive bidders for the respective bid groups and line items listed below.

- A. Miller Uniforms, All line items in Groups A through M, V, X, Z, AA, BB, Line items 33-01, 33-02
- B. GT Distributors, Groups S, T, U, W, Line 34-01

The Sheriff's Office is recommending rejecting all bids received for Groups N, O, P, Q, R and Y. Groups N, O, P, Q and R are not in the best interest of the Sheriff's Office at this time. A change in the specifications of Group Y was discovered after bid opening.

Contract-Related Information:

Award Amount: Estimated quantity, as needed basis.

Contract Type: Term Contract

Contract Period: November 6, 2012 - November 5, 2013

AGENDA REQUEST DEADLINE: All agenda requests and supporting materials must be submitted as a pdf to agenda@co.travis.tx.us by Tuesdays at 5:00 p.m. for the next week's meeting.

	Solicitation-Related Information	on:
	Solicitations Sent: 20	Responses Received: 2
	HUB Information:	% HUB Subcontractor:
>	Special Contract Consideration	ons:
	_ ' '	nterested parties have been notified. dder; interested parties have been
>	Funding Information: ☐ SAP Shopping Cart #:	
	☐ SAI Shopping Cart #.☐ Funding Account(s): Cost C	Center 137044001
	,	ntity, shopping carts entered on an as



JAMES N. SYLVESTER Chief Deputy

TRAVIS COUNTY SHERIFF

P.O. Box 1748 Austin, Texas 78767 (512) 854-9770 www.tcsheriff.org PHYLLIS CLAIR
Major – Law Enforcement

DARREN LONG
Major - Corrections

MARK SAWA Major - Administration & Support

MEMORANDUM

To:

Loren Breland

Purchasing Agent Assistant

From:

Bonnie Alcorn

TCSO Supply Officer

Through:

Maria Wedhorn

Financial Analyst Lead

Date:

October 04, 2012

Subject:

Solicitation #B120219-LD, SHERIFF'S UNIFORMS

The Travis County Sheriff's Office recommends the items listed on this bid be awarded to the following lowest responsive bidders.

Miller Uniforms & Emblems, Inc. A,B,C,D,E,F, G, H,I,J, K, L, M, V, X, Z, AA, BB, 33-01, 33-02

GT Distributors, Inc. Item#'s S,T,U,W, 34-01

We recommend Item#'s N,O,P,Q,R be rejected as these are not in the best interest of the Travis County Sheriff's Office at this time.

Do not award Item #Y due to a change in current specifications.

Expenditures will continue to be funded within Cost Center 1370440001.

Please contact me at 854-4474 if you have any questions.

cc Maria Wedhorn

Bid #B120219-LD - SHERIFF'S UNIFORMS

Creation Date May 18, 2012

End Date

Aug 13, 2012 2:00:00 PM CDT

Start Date

Jul 17, 2012 4:39:23 PM CDT

Awarded Date Not Yet Awarded

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	2300 / each	\$98,187.00		Y
Unit Amount Text: forty two dollars ar Total Amount Text: ninety eight thous		Suppiler Notes: Bi	dding Fechheimer 55	R7404	
seven dollars and zero cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$67.50	2300 / each	\$155,250.00	I	Ý

Color: Silver Tan - XXL Supplier	Unit Price	Qty/Unit	Total Price	Attch.	
A THE PARTY OF THE				Atten.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	150 / each	\$6,403.50		Y
Unit Amount Text: forty two dollars as Total Amount Text: six thousand four		Supplier Notes: B	idding Fechheimer 55	R8404	
and fifty cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$74.25	150 / each	\$11,137.50		Y

B120219-LD01-03 Group A - Me Color: Silver Tan -XXXL	n's Short-Sieeve Shirts	, Blauer Model #8	460Z: Shirt, Short-	Sleeve (Stock)
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	60 / each	\$2,561.40		Y
Unit Amount Text: forty two dollars ar Total Amount Text: two thousand five dollars and forty cents Agency Notes:	nd sixty nine cents hundred sixty one	Supplier Product Supplier Notes: B	idding Fechheimer 55	5R8404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$81.00	60 / each	\$4,860.00		Y
Product Code: Unit Amount Text: Eighty one Total Amount Text: four thousand eig Agency Notes:	ht hundred	Supplier Product Supplier Notes:	Code: Blauer # 8460)Z	

B120219-LD01-04 Group A Color: Sliver Tan -XXXXL	- Men's Short-Sleeve Shirts	, Biauer Model #8	460Z: Shirt, Short-	Sieeve (S	itock)
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	50 / each	\$2,134.50		Y
Product Code: Unit Amount Text: forty two dolla Total Amount Text: two thousand	rs and sixty nine cents	Supplier Product Supplier Notes: B	Code: idding Fechheimer 55	5R8404	

dollars and fifty cents Agency Notes:		av 70 m/s		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$87.75	50 / each	\$4,387.50	Y
Product Code: Unit Amount Text: eighty seven seven Total Amount Text: Four thousand thre fifty Agency Notes:	ty five	Supplier Notes:	Code: Blauer # 8460Z	

(Altered), Coior: Siiver Tan - S-XL		I a second			
Supplier	Unit Price	Qty/Unit	Totai Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	450 / each	\$19,210.50		Y
Unit Amount Text: forty two dollars ar Total Amount Text: nineteen thousand		Supplier Notes: B	idding Fechheimer 55	R8404	
and fifty cents Agency Notes:	d two nundred ten dollars				
and fifty cents	First Offer - \$67.50	450 / each	\$30,375.00		Y

B120219-LD01-06 Group A - Me (Altered), Color: Silver Tan - XXL	n's Short-Sleeve Shirts	, Blauer Modei #8	460Z: Shirt, Short-	Sleeve	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	25 / each	\$1,067.25		Y
Unit Amount Text: forty two dollars ar Total Amount Text: one thousand sixt twenty five cents Agency Notes:		Supplier Product Supplier Notes: B	Bidding Fechheimer 55	R8404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$74.25	25 / each	\$1,856.25	W.	Y
Product Code: Unit Amount Text: Seventy four twent Total Amount Text: Eightteen hundere Agency Notes:	five	Supplier Product Supplier Notes:	Code: Blauer # 8460	Z	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	15 / each	\$640.35		Y
Unit Amount Text: forty two dollars as Total Amount Text: six hundred forty		Supplier Notes: B	idding Fechheimer 55	R8404	
cents	donars and unity five				
cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$81.00	15 / each	\$1,215.00		Y

B120219-LD01-08 Group A (Altered), Color: Silver Tan - X	- Men's Short-Sieeve Shirts XXXL	, Blauer Model #8	460Z: Shirt, Short-	Sleeve	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	10 / each	\$426.90		Y
Product Code:	The state of the s	Supplier Product	Code:		



Travis County Commissioners Court Agenda Request

Meeting Date: November 6, 2012

Prepared By/Phone Number: Loren Breland, 854-4854 Elected/Appointed Official/Dept. Head: Cyd Grimes

Commissioners Court Sponsor: Judge Biscoe

Agenda Language: Approve contract awards for Sheriff Uniforms, IFB #120219-LD, to the low responsive bidders.

- A. Miller Uniforms, All line items in Groups A through M, V, X, Z, AA, BB, Line items 33-01, 33-02
- B. GT Distributors, Groups S, T, U, W, Line item 34-01
- ➤ Purchasing Recommendation and Comments: Purchasing concurs with department and recommends approval of requested action. This procurement action meets the compliance requirements as outlined by the statutes.

These contracts will provide Sheriff uniforms.

Bid #B120219-LD was issued on July 17, 2012 and 2 bids on August 13, 2012. The Sheriff's Office has reviewed the bids and recommends contract awards to the lowest responsive bidders for the respective bid groups and line items listed below.

- A. Miller Uniforms, All line items in Groups A through M, V, X, Z, AA, BB, Line items 33-01, 33-02
- B. GT Distributors, Groups S, T, U, W, Line 34-01

The Sheriff's Office is recommending rejecting all bids received for Groups N, O, P, Q, R and Y. Groups N, O, P, Q and R are not in the best interest of the Sheriff's Office at this time. A change in the specifications of Group Y was discovered after bid opening.

Contract-Related Information:

Award Amount: Estimated quantity, as needed basis.

Contract Type: Term Contract

Contract Period: November 6, 2012 - November 5, 2013

AGENDA REQUEST DEADLINE: All agenda requests and supporting materials must be submitted as a pdf to agenda@co.travis.tx.us by Tuesdays at 5:00 p.m. for the next week's meeting.

	Solicitation-Related Information	on:
	Solicitations Sent: 20	Responses Received: 2
	HUB Information:	% HUB Subcontractor:
>	Special Contract Consideration	ons:
	_ ' '	nterested parties have been notified. dder; interested parties have been
>	Funding Information: ☐ SAP Shopping Cart #:	
	☐ SAI Shopping Cart #.☐ Funding Account(s): Cost C	Center 137044001
	,	ntity, shopping carts entered on an as



JAMES N. SYLVESTER Chief Deputy

TRAVIS COUNTY SHERIFF

P.O. Box 1748 Austin, Texas 78767 (512) 854-9770 www.tcsheriff.org PHYLLIS CLAIR
Major – Law Enforcement

DARREN LONG
Major - Corrections

MARK SAWA Major - Administration & Support

MEMORANDUM

To:

Loren Breland

Purchasing Agent Assistant

From:

Bonnie Alcorn

TCSO Supply Officer

Through:

Maria Wedhorn

Financial Analyst Lead

Date:

October 04, 2012

Subject:

Solicitation #B120219-LD, SHERIFF'S UNIFORMS

The Travis County Sheriff's Office recommends the items listed on this bid be awarded to the following lowest responsive bidders.

Miller Uniforms & Emblems, Inc. A,B,C,D,E,F, G, H,I,J, K, L, M, V, X, Z, AA, BB, 33-01, 33-02

GT Distributors, Inc. Item#'s S,T,U,W, 34-01

We recommend Item#'s N,O,P,Q,R be rejected as these are not in the best interest of the Travis County Sheriff's Office at this time.

Do not award Item #Y due to a change in current specifications.

Expenditures will continue to be funded within Cost Center 1370440001.

Please contact me at 854-4474 if you have any questions.

cc Maria Wedhorn

Bid #B120219-LD - SHERIFF'S UNIFORMS

Creation Date May 18, 2012

End Date

Aug 13, 2012 2:00:00 PM CDT

Start Date

Jul 17, 2012 4:39:23 PM CDT

Awarded Date Not Yet Awarded

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	2300 / each	\$98,187.00		Y
Unit Amount Text: forty two dollars ar Total Amount Text: ninety eight thous		Suppiler Notes: Bi	dding Fechheimer 55	R7404	
seven dollars and zero cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$67.50	2300 / each	\$155,250.00	I	Ý

Color: Silver Tan - XXL Supplier	Unit Price	Qty/Unit	Total Price	Attch.	
A THE PARTY OF THE				Atten.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	150 / each	\$6,403.50		Y
Unit Amount Text: forty two dollars as Total Amount Text: six thousand four		Supplier Notes: B	idding Fechheimer 55	R8404	
and fifty cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$74.25	150 / each	\$11,137.50		Y

B120219-LD01-03 Group A - Me Color: Silver Tan -XXXL	n's Short-Sieeve Shirts	, Blauer Model #8	460Z: Shirt, Short-	Sleeve (Stock)
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	60 / each	\$2,561.40		Y
Unit Amount Text: forty two dollars ar Total Amount Text: two thousand five dollars and forty cents Agency Notes:	nd sixty nine cents hundred sixty one	Supplier Product Supplier Notes: B	idding Fechheimer 55	5R8404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$81.00	60 / each	\$4,860.00		Y
Product Code: Unit Amount Text: Eighty one Total Amount Text: four thousand eig Agency Notes:	ht hundred	Supplier Product Supplier Notes:	Code: Blauer # 8460)Z	

B120219-LD01-04 Group A Color: Sliver Tan -XXXXL	- Men's Short-Sleeve Shirts	, Biauer Model #8	460Z: Shirt, Short-	Sieeve (S	itock)
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	50 / each	\$2,134.50		Y
Product Code: Unit Amount Text: forty two dolla Total Amount Text: two thousand	rs and sixty nine cents	Supplier Product Supplier Notes: B	Code: idding Fechheimer 55	5R8404	

dollars and fifty cents Agency Notes:		av 70 m/s		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$87.75	50 / each	\$4,387.50	Y
Product Code: Unit Amount Text: eighty seven seven Total Amount Text: Four thousand thre fifty Agency Notes:	ty five	Supplier Notes:	Code: Blauer # 8460Z	

(Altered), Coior: Siiver Tan - S-XL		I a second			
Supplier	Unit Price	Qty/Unit	Totai Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	450 / each	\$19,210.50		Y
Unit Amount Text: forty two dollars ar Total Amount Text: nineteen thousand		Supplier Notes: B	idding Fechheimer 55	R8404	
and fifty cents Agency Notes:	d two nundred ten dollars				
and fifty cents	First Offer - \$67.50	450 / each	\$30,375.00		Y

B120219-LD01-06 Group A - Me (Altered), Color: Silver Tan - XXL	n's Short-Sleeve Shirts	, Blauer Modei #8	460Z: Shirt, Short-	Sleeve	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	25 / each	\$1,067.25		Y
Unit Amount Text: forty two dollars ar Total Amount Text: one thousand sixt twenty five cents Agency Notes:		Supplier Product Supplier Notes: B	Bidding Fechheimer 55	R8404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$74.25	25 / each	\$1,856.25	W.	Y
Product Code: Unit Amount Text: Seventy four twent Total Amount Text: Eightteen hundere Agency Notes:	five	Supplier Product Supplier Notes:	Code: Blauer # 8460	Z	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	15 / each	\$640.35		Y
Unit Amount Text: forty two dollars as Total Amount Text: six hundred forty		Supplier Notes: B	idding Fechheimer 55	R8404	
cents	donars and unity five				
cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$81.00	15 / each	\$1,215.00		Y

B120219-LD01-08 Group A (Altered), Color: Silver Tan - X	- Men's Short-Sieeve Shirts XXXL	, Blauer Model #8	460Z: Shirt, Short-	Sleeve		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$42.69	10 / each	\$426.90		Y	
		Supplier Product Code:				

Unit Amount Text: forty two dollars and Total Amount Text: four hundred twent cents Agency Notes:	d sixty nine cents ty six dollars and ninety	Supplier Notes: Bio	dding Fechheimer 55R84	04
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$87.75	10 / each	\$877.50	Y
Product Code: Unit Amount Text: Eighty seven sevent Total Amount Text: Eight hundred seve Agency Notes:	y five nty seven fifty	Supplier Product C Supplier Notes:	ode: Blauer # 8460Z	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$59.34	25 / each	\$1,483.50		Y
Unit Amount Text: fifty nine dollars ar Total Amount Text: one thousand fou		Suppiler Notes: E	Bidding Fechheimer 5	5R8404	
dollars and fifty cents Agency Notes:					
	First Offer - \$101.25	25 / each	\$2,531.25		Y

B120219-LD02-01 Group A - Wo (Stock), Coior: Silver Tan - S-L	emen's Short-Sleeve Sh	irts, Blauer Model	#8460WZ: Shirt, S	hort-Sle	eve
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	750 / each	\$32,017.50		Y
Product Code: Unit Amount Text: forty two dollars ar Total Amount Text: thirty two thousar fifty cents Agency Notes:	nd sixty nine cents nd seventeen dollars and	Supplier Product Supplier Notes: B	Code: Idding Fechheimer 15	5R7404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$67.50	750 / each	\$50,625.00		Y
Product Code:		Supplier Product Supplier Notes:	Code: Blauer # 8460	wz	

B120219-LD02-02 Group A - Wo (Stock), Color: Sliver Tan - XL-XXL	men's Short-Sleeve Sh	irts, Biauer Modei	#8460WZ: Shirt, S	hort-Sie	eve
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	300 / each	\$12,807.00	10.00	Y
Unit Amount Text: forty two dollars ar Total Amount Text: twelve thousand a dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: B	idding Fechheimer 15	5R7404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$67.50	300 / each	\$20,250.00		Y
		Supplier Product Supplier Notes:	Code: Blauer # 8460	wz	

Supplier	Unit Price	Otv/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69		\$6,403,50		Y

Total Amount Text: four hundred twenty six dollars and ninety cents Agency Notes:		Supplier Notes: Bidding Fechheimer 55R8404		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$87.75	10 / each	\$877.50	Y
Product Code: Unit Amount Text: Eighty seven sevent Total Amount Text: Eight hundred seve Agency Notes:	y five nty seven fifty	Supplier Product C Supplier Notes:	ode: Blauer # 8460Z	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$59.34	25 / each	\$1,483.50		Y
Unit Amount Text: fifty nine dollars ar Total Amount Text: one thousand fou		Suppiler Notes: E	Bidding Fechheimer 5	5R8404	
dollars and fifty cents Agency Notes:					
	First Offer - \$101.25	25 / each	\$2,531.25		Y

B120219-LD02-01 Group A - Wo (Stock), Coior: Silver Tan - S-L	emen's Short-Sleeve Sh	irts, Blauer Model	#8460WZ: Shirt, S	hort-Sle	eve
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	750 / each	\$32,017.50		Y
Product Code: Unit Amount Text: forty two dollars ar Total Amount Text: thirty two thousar fifty cents Agency Notes:	nd sixty nine cents nd seventeen dollars and	Supplier Product Supplier Notes: B	Code: Idding Fechheimer 15	5R7404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$67.50	750 / each	\$50,625.00		Y
Product Code:		50 750 / each \$50,625.00 Supplier Product Code: Blauer # 8460WZ Supplier Notes:			

B120219-LD02-02 Group A - Wo (Stock), Color: Sliver Tan - XL-XXL	men's Short-Sleeve Sh	irts, Biauer Modei	#8460WZ: Shirt, S	hort-Sie	eve
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	300 / each	\$12,807.00	10.00	Y
Unit Amount Text: forty two dollars ar Total Amount Text: twelve thousand a dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: B	idding Fechheimer 15	5R7404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$67.50	300 / each	\$20,250.00		Y
Product Code: Unit Amount Text: Sixty seven fifty Total Amount Text: Twenty Tousand t Agency Notes:	wo Hundered fifty	Supplier Product Supplier Notes:	Code: Blauer # 8460	wz	

Supplier	Unit Price	Otv/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69		\$6,403,50		Y

Total Amount Text: six thousand four hundred three dollars and fifty cents Agency Notes:		Supplier Product Supplier Notes: B	Code: idding Fechheimer 155R74	04
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$67.50	150 / each	\$10,125.00	Y
Product Code: Unit Amount Text: Sixty seven fifty Total Amount Text: Ten thousand one Agency Notes:	hundred twenty five	Supplier Product Supplier Notes:	Code: Blauer # 8460WZ	

(Altered), Coior: Sliver Tan - XL-XX Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	100 / each	\$4,269.00		Y
Unit Amount Text: forty two dollars a	na sixty nine cents	Supplier Notes: B	idding Fechheimer 15	5P7404	
dollars and zero cents	hundred sixty nine			31(7404	
Total Amount Text: four thousand two dollars and zero cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	hundred sixty nine First Offer - \$67.50	100 / each	\$6,750.00	307404	Y

(Made-to-Measure), Coior: Sliver Ta	omen's Short-Sleeve Sh an	iirts, blauer Model	#8460W2: Snirt, S	nort-Sie	eve
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Doc
GT Distributors, Inc. [Ad]	First Offer - \$59.34	25 / each	\$1,483.50		Y
Unit Amount Text: fifty nine dollars an	nd thirty four cents	Supplier Notes: B	idding Fechheimer 15	5R7404	
dollars and fifty cents	r nundred eighty three				
Total Amount Text: one thousand fou dollars and fifty cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$67.50	25 / each	\$1,687.50		Y

B120219-LD03-01 Group B - Me 14 ¿" TO 17 ¿", sleeve to 36"	n's Long Sleeve Shirts,	Blauer Model #84	50Z: Shirt, Long-Si	eeve (St	ock) -
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors. Inc. [Ad]	First Offer - \$49.32	500 / each	\$24,660.00		Y
Unit Amount Text: forty nine dollars a Total Amount Text: twenty four thous dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: B	idding Fechheimer 05	W8404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$72.50	500 / each	\$36,250.00		Y
Product Code: Unit Amount Text: Seventy two fifty Total Amount Text: Thirty six thousan Agency Notes:	d two hundred fifty	Supplier Product Supplier Notes:	Code: Blauer # 8450	Z	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	250 / each	\$12,330.00		Y

Unit Amount Text: forty nine dollars and thirty two cents Total Amount Text: twelve thousand three hundred thirty dollars and zero cents Agency Notes:		Supplier Product Code: Supplier Notes: Bidding Fechheimer 05W8404		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$79.75	250 / each	\$19,937.50	T Y
Product Code: Unit Amount Text: Seventy nine sevent Total Amount Text: Nineteen thousand seven fifty Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 8450Z	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	20 / each	\$986.40		Y
Unit Amount Text: forty nine dollars a Total Amount Text: nine hundred eigh		Supplier Product Supplier Notes: B	idding Fechheimer 05	W8404	
cents	ity six dollars and forty				
cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$79.75	20 / each	\$1,595.00		Y

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	30 / each	\$1,479.60	DEVICE:	Y
Unit Amount Text: forty nine dollars a	the second secon	Supplier Notes: B	idding Fechheimer 05	W8404	
Total Amount Text: one thousand fou dollars and sixty cents Agency Notes:	r hundred seventy nine				
dollars and sixty cents	First Offer - \$87.00	30 / each	\$2,610.00		Y

B120219-LD03-05 Group B - Me 20"	n's Long Sleeve Shirts,	Blauer Model #84	150Z: Shirt, Long-Si	eeve (St	ock) -
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	20 / each	\$986.40		Y
Product Code: Unit Amount Text: forty nine dollars a Total Amount Text: nine hundred eigh cents Agency Notes:		Supplier Product Supplier Notes: B	Bidding Fechheimer 05	W8404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$94.25	20 / each	\$1,885.00	12 15 12 15	Y
Product Code: Unit Amount Text: Ninety four twenty Total Amount Text: Eighteen hundred Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 8450	Z	

B120219-LD03-06 Group B - Men's Long Sieeve Shirts, Blauer Model #8450Z: Shirt, Long-Sleeve (Altered) 14 ½" TO 17 ½", sieeve to 36"					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	100 / each	\$4,932.00		Y

Miller Uniforms & Emblems, Inc [Ad] First Offer - \$72.50		100 / each Supplier Product (\$7,250.00 Code: Blauer # 8450Z	Y
dollars and zero cents Agency Notes:	e hundred thirty two			
		Supplier Product Code: Supplier Notes: Bidding Fechheimer 05W8404		4

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	100 / each	\$4,932.00		Y
Unit Amount Text: forty nine dollars a	na thirty two cents	Supplier Notes: Bi	aaina rechheimer 05	W8404	
dollars and zero cents	e hundred thirty two				
Total Amount Text: four thousand nin dollars and zero cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	e hundred thirty two First Offer - \$79.75	100 / each	\$7,975.00		Y

B120219-LD03-08 Group B - Me 17 ½" to 18 ½", sieeve to 38"	n's Long Sleeve Shirts,	Blauer Model #84	150Z: Shirt, Long-Si	eeve (Al	tered)
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	15 / each	\$739.80		Y
Product Code: Unit Amount Text: forty nine dollars a Total Amount Text: seven hundred thi eighty cents Agency Notes:		Supplier Product Supplier Notes: B	Code: Bidding Fechheimer 05	5W8404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$79.75	15 / each	\$1,196.25	3123	Y
Product Code: Unit Amount Text: Seventy nine sever Total Amount Text: Eleven hundred ni Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 8450	Z	

B120219-LD03-09 Group B - Me 19", sleeve 34" to 36"	n's Long Sieeve Shirts,	Blauer Model #84	150Z: Shirt, Long-Si	eeve (Al	tered)
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	15 / each	\$739.80		Y
Unit Amount Text: forty nine dollars a Total Amount Text: seven hundred thi eighty cents Agency Notes:		Supplier Product Supplier Notes: B	ildding Fechheimer 05	W8404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$87.00	15 / each	\$1,305.00		Y
Product Code: Unit Amount Text: Eighty seven Total Amount Text: Thirteen hundred Agency Notes:	five	Supplier Product Supplier Notes:	Code: Blauer # 8450	Z	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	5 / each	\$246.60		Y

Product Code:		Supplier Product (Supplier Notes:	Code: Blauer # 8450Z	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$94.25	5 / each	\$471.25	Y
Product Code: Unit Amount Text: forty nine dollars and thirty two cents Total Amount Text: two hundred forty six dollars and sixty cents Agency Notes:		Supplier Product Supplier Notes: B	Code: idding Fechheimer 05W84	04

B120219-LD03-11 Group B - Me Measure), Coior: Sliver Tan	in a Long Siecve Sillius, i	piauti rivuti #04	302: 311117, LONG-31	eeve (Ma	iae-to-
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$68.56	10 / each	\$685.60		Y
Unit Amount Text: sixty eight dollars a Total Amount Text: six hundred eight cents Agency Notes:		Supplier Product Supplier Notes: E	Bidding Fechhelmer 0	5W8404	
	First Offer #109.75	10 / each	\$1,087.50	100000	
Miller Uniforms & Emblems, Inc [Ad] First Offer - \$108.75 Product Code: Unit Amount Text: One hundred eight and seventy five Total Amount Text: One thousand eighty seven fifty Agency Notes:		TO / Each	\$1,007.50		Y

B120219-LD03-12 Group B - Me 14 ½" TO 17 ½", sieeve to 36"	n's Long Sieeve Shirts,	Biauer Modei #84	50Z: Shirt, Long-Si	eeve, Cia	ss A -
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$59.32	550 / each	\$32,626.00	Who a little a	Y
Product Code: Unit Amount Text: fifty nine dollars ar Total Amount Text: thirty two thousar dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: B	idding Fechheimer 05	5W8404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$80.50	550 / each	\$44,275.00		Y
Miller Uniforms & Emblems, Inc [Ad] First Offer - \$80.50 Product Code:		Supplier Product Supplier Notes:	Code: Blauer # 8450	Z	

18" to 18 1/2", sieeve to 36"	n's Long Sleeve Shirts,	blauer Model #84	souz: Snirt, Long-Si	eeve, Cla	ISS A -
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$59.32	50 / each	\$2,966.00		Y
Unit Amount Text: fifty nine dollars ar Total Amount Text: two thousand nine		Supplier Product Supplier Notes: B	idding Fechheimer 05	W8404	
dollars and zero cents					
dollars and zero cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$88.55	50 / each	\$4,427.50		Y

B120219-LD03-14 Group B - Men's Long Sieeve Shirts, Blauer Model #8450Z: Shirt, Long-Sieeve, Class A - 17 ½" to 18 ½", sieeve to 38"						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$59.32	50 / each	\$2,966.00		Y	

Miller Uniforms & Emblems, Inc (Ad) Product Code: Unit Amount Text: Eighty eight fifty five	First Offer - \$88.55	50 / each Supplier Product (Supplier Notes:	\$4,427.50 Code: Blauer # 8450Z	Y
dollars and zero cents Agency Notes:		50 / oach	¢4.427.50	
		Supplier Product Supplier Notes: B	Code: idding Fechheimer 05W840	14

B120219-LD03-15 Group B - Me 19", sieeve 34" to 36"	n's Long Sleeve Shirts,	Biauer Model #84	450Z: Shirt, Long-Si	eeve, Cla	ass A -
Supplier	Unit Price	Price Qty/Unit Total Price A		Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$59.32	40 / each	\$2,372.80		Y
Unit Amount Text: fifty nine dollars ar Total Amount Text: two thousand thre dollars and eighty cents Agency Notes:		Supplier Product Supplier Notes: 8	Bidding Fechheimer 05	W8404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$96.60	40 / each	\$3,864.00		Y
Product Code:		Supplier Product Supplier Notes:	Code: Blauer # 8450	Z	

B120219-LD03-16 Group B - Me 20"	n's Long Sieeve Shirts, I	Blauer Modei #84	50Z: Shirt, Long-Si	eeve, Cla	iss A -	
Supplier	Unit Price Qty/Unit	rice Qty/Unit Total Price At			Docs	
GT Distributors, Inc. [Ad]	First Offer - \$59.32	10 / each	\$593.20		Y	
Product Code: Unit Amount Text: fifty nine dollars an Total Amount Text: five hundred nine cents Agency Notes:	d thirty two cents ty three dollars and twenty	Supplier Product Supplier Notes: E	Code: Bidding Fechheimer O	5 W84 04		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$104.65	10 / each	\$1,046.50	TALL S	Y	
Unit Amount Text: One hundred four a	Product Code: Unit Amount Text: One hundred four and sixty five Total Amount Text: One thousand fourty six fifty		Supplier Product Code: Blauer # 8450Z Supplier Notes:			

B120219-LD04-01 Group B - Wo (Stock), Color: Silver Tan - S-L	omen's Long-Sieeve Sh	irts, Blauer Model	#8450WZ: Shirt, Le	ong-Siee	ve
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	200 / each	\$9,864.00		Y
Unit Amount Text: forty nine dollars a Total Amount Text: nine thousand eig dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: B	idding Fechheimer 10	5W8404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$72.50	200 / each	\$14,500.00		Y
Miller Uniforms & Emblems, Inc [Ad] First Offer - \$72.50 Product Code: Unit Amount Text: Seventy two fifty Total Amount Text: Fourteen thousand five hundred Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 8450	WZ	

(Stock), Color: Silver Tan - XL-	XXL				1900
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	50 / each	\$2,466.00	6575	Y

		Supplier Product Code: Supplier Notes: Bidding Fechheimer 105W8404		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$72.50	50 / each	\$3,625.00	Y
Product Code: Unit Amount Text: Seventy two fifty Total Amount Text: Three thousand six Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 8450WZ	

(Aitered), Color: Silver Tan - S-L	omen's Long-Sleeve Shi	irts, Biauer Model	#8450WZ: Shirt, Le	ong-Slee	ve
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	75 / each	\$3,699.00	Ne Ecov	Y
Unit Amount Text: forty nine dollars a		Supplier Product Supplier Notes: B	idding Fechheimer 10	5W8404	
dollars and zero cents	x hundred ninety nine				
Total Amount Text: three thousand sidollars and zero cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	x hundred ninety nine First Offer - \$72.50	75 / each	\$5,437.50		Y

B120219-LD04-04 Group B - Wo (Altered), Color: Silver Tan - XL-XXI	men's Long-Sleeve Sh L	irts, Blauer Modei	#8450WZ: Shirt, Lo	ong-Siee	ve
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	20 / each	\$986.40		Y
Product Code: Unit Amount Text: forty nine dollars a Total Amount Text: nine hundred eigh cents Agency Notes:		Supplier Product Supplier Notes: B	Code: Bidding Fechheimer 10	95W 84 04	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$72.50	20 / each	\$1,450.00		Y
Miller Uniforms & Emblems, Inc [Ad] First Offer - \$72.50 Product Code: Unit Amount Text: Seventy two fifty Total Amount Text: Fourteen hundred fifty Agency Notes:		Supplier Product Code: Blauer # 8450WZ Supplier Notes:			

B120219-LD04-05 Group B - Wo (Made to Measure), Color: Silver Ta		irts, Biauer Model	#8450WZ: Shirt, Lo	ong-Slee	ve
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$68.56	20 / each	\$1,371.20		Y
Unit Amount Text: sixty eight dollars a Total Amount Text: one thousand thre dollars and twenty cents Agency Notes:		Supplier Product Supplier Notes: B	Bidding Fechheimer 10	5W8404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$72.50	20 / each	\$1,450.00		Y
Product Code:		Suppiler Product Suppiler Notes:	Code: Blauer # 8450	WZ	

Class A, Coior: Sliver Tan - S-L					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$59.32	150 / each	\$8,898.00		Y

Miller Uniforms & Emblems, Inc [Ad] First Offer - \$80.50 Product Code:		150 / each Supplier Product Supplier Notes:	\$12,075.00 Code: Blauer # 8450WZ	Y
dollars and zero cents Agency Notes:				
Unit Amount Text: fifty nine dollars and thirty two cents Total Amount Text: eight thousand eight hundred ninety eight		Supplier Product Supplier Notes: B	Code: idding Fechheimer 105W840	04

B120219-LD04-07 Group B - We Class A, Coior: Sliver Tan - XL-XXL	omen's Long-Sleeve Shi	irts, Biauer Modei	#8450WZ: Shirt, Lo	ong-Slee	ve,
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$59.32	50 / each	\$2,966.00		Y
Unit Amount Text: fifty nine dollars ar Total Amount Text: two thousand nin- dollars and zero cents Agency Notes:	nd thirty two cents e hundred sixty six	Supplier Product Supplier Notes: B	idding Fechheimer 10	5W8404	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$80.50	50 / each	\$4,025.00		Y
Miller Uniforms & Emblems, Inc [Ad] First Offer - \$80.50 Product Code: Unit Amount Text: Eighty fifty Total Amount Text: Four thousand twenty five Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 8450	WZ	N. Weiter

B120219-LD05-01 Group C - Sh Color: Sliver Tan - XS-XL	ort-Sieeve Knit Shirts, I	Biauer Modei #813	0: Shirt, Short-Sie	eve (Sto	ck),
Suppiler	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$50.71	1100 / each	\$55,781.00		Y
Product Code: Unit Amount Text: fifty dollars and se Total Amount Text: fifty five thousand one dollars and zero cents Agency Notes:		Supplier Product (Supplier Notes: Bi	dding Fechheimer 85	iR7000 Ta	in
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$54.50	1100 / each	\$59,950.00		Y
Miller Uniforms & Emblems, Inc [Ad] First Offer - \$54.50 Product Code: Unit Amount Text: Fifty four fifty Total Amount Text: Fifty nine thousand nine hundred fifty Agency Notes:		Supplier Product (Supplier Notes:	Code: Blauer # 8130		

B120219-LD05-02 Group C - She Color: Sliver Tan - XXL	ort-Sieeve Knit Shirts, I	Blauer Model #813	0: Shirt, Short-Sle	eve (Stoc	k),
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$50.71	800 / each	\$40,568.00		Y
Product Code: Unit Amount Text: fifty dollars and set Total Amount Text: forty thousand fiv dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: B	idding Fechheimer 85	6R7000 Ta	n
Miller Uniforms & Embiems, Inc [Ad] First Offer - \$59.95 Product Code: Unit Amount Text: Fifty nine ninety five Total Amount Text: Fourty seven thousand nine hundred sixty Agency Notes:		800 / each	\$47,960.00		Y

Coior: Sliver Tan - XXXL				6 45 (15)	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$50.71	160 / each	\$8,113.60		Y

Unit Amount Text: fifty dollars and seventy one cents Total Amount Text: eight thousand one hundred thirteen dollars and sixty cents Agency Notes:		Supplier Product Code: Supplier Notes: Bidding Fechheimer 85R7000 Tan		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$65.40	160 / each	\$10,464.00	Y
Product Code: Unit Amount Text: Sixty five fourty Total Amount Text: Ten thousand four Agency Notes:	hundred sisty four	Supplier Product Supplier Notes:	Code: Blauer # 8130	

Color: Silver Tan - XXXXL Supplier	Unit Price	Oty/Unit	Total Price	Attch.	Door
GT Distributors, Inc. [Ad]	First Offer - \$50.71	75 / each	\$3,803.25	Atten.	Docs
Product Code: Unit Amount Text: fifty dollars and se Total Amount Text: three thousand ei			idding Fechheimer 85	R7000 Ta	n
and twenty five cents					
and twenty five cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$70.85	75 / each	\$5,313.75		Y

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$54.50	75 / each	\$4,087.50		Y
Product Code: Unit Amount Text: Fifty four fifty Total Amount Text: Four thousand eighty seven fifty Agency Notes:		Supplier Notes: S	Code: Blauer # 8130 lizes XS-XL		
GT Distributors, Inc. [Ad]	First Offer - \$65.92	75 / each	\$4,944.00		Y
GT Distributors, Inc. [Ad] First Offer - \$65.92 Product Code:		2 75 / each \$4,944.00 Y Supplier Product Code: Supplier Notes: Bidding Fechheimer 85R7000 Tan			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$59.95	75 / each	\$4,496.25	- 7/00 P S T	Y
Unit Amount Text: Fifty nine nintey fiv Total Amount Text: Fourty four hundn Agency Notes:		Supplier Notes: S	Code: Blauer # 8130 size XXL		
Agency Notes: GT Distributors, Inc. [Ad] Product Code: Unit Amount Text: sixty five dollars and ninety two cents Total Amount Text: four thousand nine hundred forty four dollars and zero cents					

B120219-LD05-07 Group C - Short-Sleeve Knit Shirts, Biauer Model #8130: Shirt, Short-Sleeve (Altered), Color: Sliver Tan						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$65.40	75 / each	\$4,905.00		Y	

Product Code: Unit Amount Text: Sixty five fourty Total Amount Text: Fourty nine hundred five Agency Notes:		Supplier Product Code: Blauer # 8130 Supplier Notes: Size 3XL		
GT Distributors, Inc. [Ad]	First Offer - \$65.92	75 / each	\$4,944.00	Y
Product Code: Unit Amount Text: sixty five dolla Total Amount Text: four thousand dollars and zero cents Agency Notes:	rs and ninety two cents d nine hundred forty four	Supplier Product Supplier Notes: B	Code: idding Fechhelmer 85R700	0 Tan

B120219-LD05-08 Group C - Sh Color: Silver Tan	ort-Sleeve Knlt Shirts, I	Biauer Modei #81:	30: Shirt, Short-Sle	eve (Alte	red),
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$65.92	75 / each	\$4,944.00		Y
Unit Amount Text: sixty five dollars as Total Amount Text: four thousand nin dollars and zero cents Agency Notes:		Suppiler Product Suppiler Notes: B	Bidding Fechheimer 85	R7000 Ta	an
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$70.85	75 / each	\$5,313.75		Y
Miller Uniforms & Emblems, Inc [Ad] First Offer - \$70.85 Product Code: Unit Amount Text: Seventy eighty five Total Amount Text: Fifty three hundred thirteen seventy five Agency Notes:		Supplier Product Code: Blauer # 8130 Supplier Notes: Size 4XL			

B120219-LD06-01 Group D - Me Color: Brown - 28" through 42"	n's Trousers, Side Pocl	ket, Blauer Model :	#8980: Trousers, M	en's (St	ock),		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
GT Distributors, Inc. [Ad]	First Offer - \$50.36	800 / each	\$40,288.00		Y		
Product Code: Unit Amount Text: fifty dollars and thi Total Amount Text: forty thousand tw dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: B	Code: Bidding Fechheimer 39	310			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$69.50	800 / each	\$55,600.00		Y		
Product Code:		Supplier Product Code: Blauer # 8980 Supplier Notes:					

B120219-LD06-02 Group D - Me Color: Brown - 44" through 50"	n's Trousers, Side Poci	ket, Blauer Model 4	#8980: Trousers, M	en's (Sto	ock),	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$50.36	100 / each	\$5,036.00		Y	
Product Code: Unit Amount Text: fifty dollars and thi Total Amount Text: five thousand thir cents Agency Notes:		Supplier Product Supplier Notes: B	idding Fechheimer 39	310		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$76.45	100 / each	\$7,645.00		Y	
Product Code: Unit Amount Text: Seven thousand six hundred fourty five Agency Notes:		Supplier Product Code: Blauer # 8980 Supplier Notes:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$50.36		\$1,259.00		Y

dollars and zero cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad] Product Code:	First Offer - \$83.40	25 / each	\$2,085.00 Code: Blauer # 8980	Y
Unit Amount Text: eighty three fourty Total Amount Text: Two thousand eigh Agency Notes:	ty five	Supplier Product Code: Blauer # 8980 Supplier Notes:		

B120219-LD06-04 Group D - Me Color: Brown - 28" through 42"	n's Trousers, Side Poc	ket, Biauer Model :	#8980: Trousers, M	en's (Alt	ered),
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$50.36	100 / each	\$5,036.00		Y
Product Code: Unit Amount Text: fifty dollars and thi Total Amount Text: five thousand thir cents Agency Notes:		Supplier Product Supplier Notes: B	idding Fechheimer 39	310	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$69.50	100 / each	\$6,950.00		Y
Product Code:		Supplier Product Code: Blauer # 8980 Supplier Notes:			

B120219-LD06-05 Group D - Me Color: Brown - 44" through 50"	n's Trousers, Side Poci	cet, Blauer Modei	#8980: Trousers, M	en's (Alt	ered),	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors. Inc. [Ad]	First Offer - \$50.36	20 / each	\$1,007.20		Y	
Product Code: Unit Amount Text: fifty dollars and thi Total Amount Text: one thousand sev cents Agency Notes:	rty six cents en dollars and twenty	Supplier Product Supplier Notes: B	Code: Bidding Fechheimer 39	310		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$76.45	20 / each	\$1,529.00	WELCE,	Y	
Product Code:		Supplier Product Code: Blauer # 8980 Supplier Notes:				

B120219-LD06-06 Group D - Me Color: Brown - 52" through 54"	n's Trousers, Side Poci	cet, Biauer Modei :	#8980: Trousers, M	en's (Ait	ered),
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors. Inc. [Ad]	First Offer - \$50.36	10 / each	\$503.60		Y
Product Code: Unit Amount Text: fifty dollars and thin Total Amount Text: five hundred three Agency Notes:	rty six cents e dollars and sixty cents	Supplier Product Supplier Notes: B	Code: Bidding Fechheimer 39	310	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$83.40	10 / each	\$834.00		Y
Product Code:		Supplier Product Supplier Notes:	Code: Blauer # 8980		

B120219-LD06-07 Group D Measure), Coior: Brown	- Men's Trousers, Side Pock	cet, Biauer Model :	#8980: Trousers, M	en's (Ma	de-to-
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$50.36	20 / each	\$1,007.20	10-10-1	Y
Product Code:		Supplier Product	Code:		

Total Amount Text: one thousand seven dollars and twenty cents Agency Notes:		Supplier Notes: Bidding Fechheimer 39310			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$90.35	20 / each	\$1,807.00	Y	
Product Code: Unit Amount Text: Ninety thirty five Total Amount Text: Eighteen hundred Agency Notes:	seven	Supplier Product Supplier Notes:	Code: Blauer # 8980		

B120219-LD07-01 Group D - Wo (Stock), Color: Brown - 4 through 1		Pocket, Biauer Mo	dei #8980W: Trous	ers, Won	nen's
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$50.36	900 / each	\$45,324.00	3997 37	Y
Unit Amount Text: fifty dollars and thi Total Amount Text: forty five thousan four dollars and zero cents Agency Notes:	rty six cents	Supplier Product Supplier Notes: B	Bidding Fechheimer 39	9360	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$69.50	900 / each	\$62,550.00		Y
Product Code:		Supplier Product Supplier Notes:	Code: Blauer # 8980	w	

B120219-LD07-02 Group D - Wo (Stock), Color: Brown - 20 through		Pocket, Blauer Moc	iei #8980W: Trous	ers, Won	nen's
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$50.36	110 / each	\$5,539.60		Y
Product Code: Unit Amount Text: fifty dollars and thi Total Amount Text: five thousand five dollars and sixty cents Agency Notes:		Suppiler Product Supplier Notes: B	code: idding Fechheimer 39	9360	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$76.45	110 / each	\$8,409.50		Y
Product Code: Unit Amount Text: Seventy six fourty Total Amount Text: Eighty four hundre Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 8980	w i	

B120219-LD07-03 Group D - Wo (Altered), Color: Brown - 4 through	men's Trousers, Side F 18	Pocket, Blauer Mod	dei #8980W: Trous	ers, Won	nen's	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$50.36	75 / each	\$3,777.00		Y	
Unit Amount Text: fifty dollars and thi Total Amount Text: three thousand se seven dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: B	Bidding Fechheimer 39	9360		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$69.50	75 / each	\$5,212.50	A-4-1	Y	
Product Code: Unit Amount Text: Sixty nine fifty Total Amount Text: Fifty two hundred twelve and fifty Agency Notes:		Supplier Product Code: Blauer # 8980W Supplier Notes:				

B120219-LD07-04 Group D (Altered), Color: Brown - 20 th	- Women's Trousers, Side F rough 24	ocket, Blauer Mo	dei #8980W: Trous	ers, Won	nen's
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$50.36	25 / each	\$1,259.00		Y
Product Code:		Suppiler Product	Code:		

Unit Amount Text: fifty dollars and thir Total Amount Text: one thousand two dollars and zero cents Agency Notes:	one thousand two hundred fifty nine		Supplier Notes: Bidding Fechhelmer 39360			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$69.50	25 / each	\$1,737.50		Y	
Product Code: Unit Amount Text: Sixty nine fifty Total Amount Text: Seventeen hundre Agency Notes:	d thirty seven and fifty	Supplier Product Supplier Notes:	Code: Blauer # 8980W			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$69.50	20 / each	\$1,390.00		Y
Product Code: Unit Amount Text: Sixty nine fifty Total Amount Text: Thirteen hundred ninety Agency Notes:		Supplier Notes:	Code: Blauer # 8980		
GT Distributors, Inc. [Ad]	First Offer - \$69.94	20 / each	\$1,398.80		Y
GT DISCIDULOIS, THE. [AU]		20 / each \$1,398.80 Supplier Product Code: Supplier Notes: Bidding Fechheimer 39360			

B120219-LD08-01 Group E - Me Color: Brown - 28" through 42"	n's Trousers, Four Poci	cet, Biauer Model #	#8560: Trousers, M	en's (Sta	ock),
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$54.94	2300 / each	\$126,362.00		Y
Product Code: Unit Amount Text: fifty four dollars an Total Amount Text: one hundred twer sixty two dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: B	Code: idding Fechheimer 47	7281	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$71.50	2300 / each	\$164,450.00		Y
Product Code: Unit Amount Text: Seventy one fifty Total Amount Text: One hundred sisty hundred fifty Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 8560		

B120219-LD08-02 Group E - Me Color: Brown - 44" through 50"	n's Trousers, Four Pocl	cet, Blauer Model #	#8560: Trousers, M	en's (Sto	ck),
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$54.94	150 / each	\$8,241.00		Y
Product Code: Unit Amount Text: fifty four dollars an Total Amount Text: eight thousand tw dollars and zero cents Agency Notes:				'281	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$78.65	150 / each	\$11,797.50		Y
Product Code: Unit Amount Text: Seventy eight sixty Total Amount Text: Eleven thousand s seven and fifty Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 8560		

B120219-LD08-03 Group E Color: Brown - 52" through 54	- Men's Trousers, Four Pock '	et, Biauer Modei #	#8560: Trousers, M	en's (Sto	ck),
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$54.94	100 / each	\$5,494.00		Y

Product Code: Unit Amount Text: fifty four dollars and Total Amount Text: five thousand four dollars and zero cents Agency Notes:	d ninety four cents hundred ninety four	Supplier Product (Supplier Notes: Bi	Code: dding Fechheimer 47281	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$85.80	100 / each	\$8,580.00	Y
Product Code: Unit Amount Text: Eighty five eighty Total Amount Text: Eighty five hundred Agency Notes:	d eighty	Supplier Product (Supplier Notes:	C ode: Blauer # 8560	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	1. Docs
GT Distributors, Inc. [Ad]	First Offer - \$54.94	200 / each	\$10,988.00	36/3924/	Y
Unit Amount Text: fifty four dollars an	d ninety four cents	Supplier Notes: B	idding Fechheimer 47	7281	
dollars and zero cents	hundred eighty eight				
Total Amount Text: ten thousand nine dollars and zero cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$71.50	200 / each	\$14,300.00		Y

B120219-LD08-05 Group E - Me Color: Brown - 44" through 50"	n's Trousers, Four Poci	cet, Biauer Modei i	#8560: Trousers, M	en's (Alt	ered),
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$54.94	100 / each	\$5,494.00		Y
Unit Amount Text: fifty four dollars an Total Amount Text: five thousand four dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: B	idding Fechheimer 47	'281	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$78.65	100 / each	\$7,865.00		Y
Product Code: Unit Amount Text: Seventy eight sixty Total Amount Text: Seventy eight hun Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 8560		

B120219-LD08-06 Group E - Me Color: Brown - 52" through 54"	n's Trousers, Four Poci	cet, Blauer Model	#8560: Trousers, M	en's (Ait	ered),
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	. Docs
GT Distributors, Inc. [Ad]	First Offer - \$54.94	50 / each	\$2,747.00		Y
Unit Amount Text: fifty four dollars an Total Amount Text: two thousand sev dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: E	Bidding Fechheimer 47	7 281	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$85.80	50 / each	\$4,290.00		Y
Product Code: Unit Amount Text: Eighty five eighty Total Amount Text: Fourty two hundre Agency Notes:		80 50 / each \$4,290.00 Supplier Product Code: Blauer # 8560 Supplier Notes:			

Measure), Coior: Brown					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$76.46	30 / each	\$2,293.80		i Y

Product Code: Unit Amount Text: seventy six dollars a Total Amount Text: two thousand two I dollars and eighty cents Agency Notes:		Supplier Product Supplier Notes: B	Code: idding Fechheimer 47281	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$92.95	30 / each	\$2,788.50	Y
Product Code: Unit Amount Text: Ninety two ninety fiv Total Amount Text: Twenty seven hund fifty Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 8560	

Color: Brown - 28" through 42"	n's Trousers, Four Poci	et, Blauer Model i	#8560: Trousers, M	en's, (Ci	ass A),
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$54.94	800 / each	\$43,952.00		Y
Unit Amount Text: fifty four dollars ar	nd ninety four cents	Supplier Notes: B	idding Fechheimer 47	281	
Total Amount Text: forty three thouse dollars and zero cents					
Total Amount Text: forty three thoused dollars and zero cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]			\$63,600.00		Y

B120219-LD08-09 Group E - Me Coior: Brown - 44" through 50"	n's Trousers, Four Poci	cet, Blauer Model :	#8560: Trousers, M	en's, (Ci	ass A),	
Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$54.94	50 / each	\$2,747.00		Y	
Unit Amount Text: fifty four dollars an Total Amount Text: two thousand sev dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: B	idding Fechheimer 47	281		
Miller Uniforms & Emblems, Inc [Ad] First Offer - \$87.45		50 / each	\$4,372.50			
Product Code:		Supplier Product Code: Blauer # 8560 Supplier Notes:				

B120219-LD08-10 Group E - Me Color: Brown - 52" through 54"	n's Trousers, Four Pocl	ket, Blauer Modei :	#8560: Trousers, M	en's, (Cla	ass A),	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$54.94	50 / each	\$2,747.00		Y	
Unit Amount Text: fifty four dollars an Total Amount Text: two thousand sev dollars and zero cents Agency Notes:	d ninety four cents en hundred forty seven	Suppiler Product Suppiler Notes: B	idding Fechheimer 47	281		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$95.40	50 / each	\$4,770.00		Y	
Product Code: Unit Amount Text: Ninety five fourty Total Amount Text: Fourty seven hundred seventy Agency Notes:		Supplier Product Code: Blauer # 8560 Supplier Notes:				

B120219-LD09-01 Group E (Stock), Color: Brown or Black	Women's Trousers, Four P4 through 18	ocket, Biauer Mod	lei #8560W: Trous	ers, Won	ien's
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$54.94	750 / each	\$41,205.00		Y

Unit Amount Text: fifty four dollars and ninety four cents Total Amount Text: forty one thousand two hundred five dollars and zero cents Agency Notes:		Supplier Product Code: Supplier Notes: Bidding Fechheimer 47291		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$71.50	750 / each	\$53,625.00	Y
Product Code: Unit Amount Text: Seventy one fifty Total Amount Text: Fifty three thousan five Agency Notes:	d six hundred twenty	Supplier Product Supplier Notes:	Code: Blauer # 8560W	

B120219-LD09-02 Group E - Wo (Stock), Color: Brown or Black - 20	men's Trousers, Four F through 24	Pocket, Blauer Mod	dei #8560W: Trous	ers, Won	nen's	
Suppiler Unit Price		Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$54.94	150 / each	\$8,241.00		Y	
Product Code: Unit Amount Text: fifty four dollars an Total Amount Text: eight thousand tw dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: B	idding Fechheimer 47	'291		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$71.50	150 / each	\$10,725.00		Y	
Product Code: Unit Amount Text: Seventy one fifty Total Amount Text: Ten thousand seven hundred twenty five Agency Notes:		Supplier Product Code: Biauer # 8560W Supplier Notes:				

B120219-LD09-03 Group E - Wo (Altered), Color: Brown or Black - 4	men's Trousers, Four F through 18	Pocket, Blauer Mod	lei #8560W: Trous	ers, Won	nen's	
Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$54.94	100 / each	\$5,494.00		Y	
Product Code: Unit Amount Text: fifty four dollars an Total Amount Text: five thousand four dollars and zero cents Agency Notes:	professional at page 15 and	Supplier Product Supplier Notes: B	idding Fechheimer 47	7291		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$71.50	100 / each	\$7,150.00		Y	
Product Code: Unit Amount Text: Seventy one fifty Total Amount Text: Seven thousand one hundred fifty Agency Notes:		Supplier Product Code: Blauer # 8560W Supplier Notes:				

B120219-LD09-04 Group E - Wo (Altered), Color: Brown or Black - 2	men's Trousers, Four F 0 through 24	ocket, Blauer Mo	dei #8560W: Trous	ers, Won	nen's	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$54.94	20 / each	\$1,098.80		Y	
Product Code: Unit Amount Text: fifty four dollars an Total Amount Text: one thousand nine eighty cents Agency Notes:		Supplier Product Supplier Notes: B	Bidding Fechheimer 47	'291		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$71.50	20 / each	\$1,430.00	OVERAL PROPERTY.	Y	
Product Code: Unit Amount Text: Seventy one fifty Total Amount Text: Fourteen hundred thirty Agency Notes:		Supplier Product Code: Blauer # 8560W Supplier Notes:				

B120219-LD09-05 Group E - Wo (Made-to-Measure), Color: Brown of	men's Trousers, Four P r Black	ocket, Biauer Mod	del #8560W: Trous	ers, Wom	ien's
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$71.50	20 / each	\$1,430.00		Y

Product Code: Unit Amount Text: Seventy one fifty Total Amount Text: Fourteen hundred thirty Agency Notes:		Supplier Product Code: Blauer # 8560W Supplier Notes:		
GT Distributors, Inc. [Ad]	First Offer - \$76.46	20 / each	\$1,529.20	Y
Product Code: Unit Amount Text: seventy six doll Total Amount Text: one thousand dollars and twenty cents Agency Notes:	lars and forty six cents five hundred twenty nine	Supplier Product Supplier Notes: B	Code: idding Fechheimer 47291	

B120219-LD09-06 Group E - Wo (Class A), Color: Brown or Black - 4	omen's Trousers, Four F through 18	Pocket, Biauer Mo	dei #8560W: Trous	ers, Won	nen's	
Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$54.94	200 / each	\$10,988.00	17574784	Y	
Unit Amount Text: fifty four dollars an Total Amount Text: ten thousand nine dollars and zero cents Agency Notes:	nd ninety four cents e hundred eighty eight	Suppiler Product Suppiler Notes: B	Bidding Fechheimer 47	'2 91		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$79.50	200 / each	\$15,900.00		Y	
Product Code: Unit Amount Text: Seventy nine fifty Total Amount Text: Fifteen thousand nine hundred Agency Notes:		Supplier Product Code: Blauer # 8560W Supplier Notes:				

B120219-LD-09-07 Group E - Wo (Class A), Color: Brown or Black - 2	omen's Trousers, Four F O through 24	ocket, Biauer Mo	del #8560W: Trous	ers, Won	nen's	
Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$54.94	75 / each	\$4,120.50		Y	
Product Code: Unit Amount Text: fifty four dollars an Total Amount Text: four thosuand one and fifty cents Agency Notes:	nd ninety four cents e hundred twenty dollars	Supplier Product Supplier Notes: B	Bidding Fechheimer 47	7291		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$79.50	75 / each	\$5,962.50		Y	
Product Code:		Supplier Product Code: Blauer # 8560W Supplier Notes:				

B120219-LD10-01 Group F - Ho	nor Guard Trousers: Tr	ousers, Men's, (He	onor Guard), Coior:	Brown		
			Attch.	Docs		
GT Distributors, Inc. [Ad]	First Offer - \$38.88	20 / each	\$777.60		Y	
Product Code: Unit Amount Text: thirty eight dollars Total Amount Text: seven hundred se sixty cents Agency Notes:		Supplier Product Supplier Notes: B	Code: idding Fechheimer 39	009		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$48.50	20 / each	\$970.00	V	Y	
Product Code:		Supplier Product Code: Horace Small # 2147 Supplier Notes:				

B120219-LD10-02 Group F	nonoi Guaru Trousers: Ir	ousers, women s,	(nonor Guara), Co	ior : RLO	N N
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$38.88	20 / each	\$777.60		Y
Product Code: Unit Amount Text: thirty eight do		Supplier Product Supplier Notes: B	Code: idding Fechheimer 39	69	

Total Amount Text: seven hundred several sixty cents Agency Notes:	venty seven dollars and			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$48.50	20 / each	\$970.00	Y
Product Code: Unit Amount Text: Fourty Eight fifty Total Amount Text: Nine hundred seve Agency Notes:	nty	Supplier Product C Supplier Notes:	Code: Horace Small # 2179	

B120219-LD11-01 Group G - Ho	nor Guard Shirts: Hono	r Guard Shirts			100		
Suppiler	Unit Price						
GT Distributors, Inc. [Ad]	First Offer - \$53.37	15 / each	\$800.55		Y		
Product Code: Unit Amount Text: fifty three dollars a Total Amount Text: eight hundred dol Agency Notes:	nd thirty seven cents	Supplier Product Supplier Notes: B	Code: Bidding Fechhelmer 19	W6604			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$64.50	15 / each	\$967.50		Y		
Product Code: Unit Amount Text: Sixty four fifty Total Amount Text: Nine hundred sixty Agency Notes:		Supplier Product Supplier Notes: In	Code: Horace Small ncludes 15 buttons	# HS1124			

B120219-LD11-02 Group G - Ho	nor Guard Shirts: Hono	r Guard Shirts			in me
Supplier	Unit Price Qty/Unit Total Price				Docs
GT Distributors, Inc. [Ad]	First Offer - \$53.37	15 / each	\$800.55		Y
Product Code: Unit Amount Text: fifty three dollars a Total Amount Text: eight hundred dol Agency Notes:		Supplier Product Supplier Notes: B	Code: Bidding Fechheimer 19	W6604	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$77.40	15 / each	\$1,161.00		Υ
Miller Uniforms & Emblems, Inc [Ad] First Offer - \$77.40 Product Code: Unit Amount Text: Seventy seven fourty Total Amount Text: Eleven hundred sixty one Agency Notes:		Supplier Product Code: Horace small #HS1124 Supplier Notes: Includes 15 buttons			

B120219-LD11-03 Group G - Ho	nor Guard Shirts: Hono	r Guard Shirts			-A
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$53.37	15 / each	\$800.55		Y
Product Code: Unit Amount Text: fifty three dollars a Total Amount Text: eight hundred dol Agency Notes:		Supplier Product Supplier Notes: B	Code: Bidding Fechheimer 19	W6604	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$77.40	15 / each	\$1,161.00		Y
Product Code: Unit Amount Text: Seventy seven four Total Amount Text: Eleven hundred si Agency Notes:		Supplier Product Supplier Notes: I	Code: Horace Small ncludes 15 buttons	# HS1124	

B120219-LD11-04 Group G - Ho	nor Guard Shirts: Hono	r Guard Shirts		8	
Suppiler	Unit Price	Control of the Contro	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$53.37	15 / each	\$800.55		Y
Product Code: Unit Amount Text: fifty three dollars a Total Amount Text: eight hundred dol Agency Notes:		Supplier Product Supplier Notes: B	Code: Bidding Feccheimer 10	3W6604	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$64.50	15 / each	\$967.50		Y
Product Code: Unit Amount Text: Sixty four fifty Total Amount Text: Nine hundred sixt Agency Notes:	y seven fifty	Suppiler Product Supplier Notes: I	Code: Horace Small and Includes 15 buttons	# HS1176	

B120219-LD11-05 Group G - Ho	nor Guard Shirts: Hono	r Guard Shirts			
Supplier	Total Price	Attch.	Docs		
GT Distributors, Inc. [Ad]	First Offer - \$53.37	15 / each	\$800.55		Y
Product Code: Unit Amount Text: fifty three dollars a Total Amount Text: eight hundred dol Agency Notes:	lars and fifty five cents	Supplier Product Supplier Notes: E	Bidding Fechheimer 10	3W6604	
Miller Uniforms & Emblems. Inc [Ad]	First Offer - \$77.40	15 / each	\$1,161.00		Y
Product Code: Unit Amount Text: Seventy seven fou Total Amount Text: Eleven hundred si Agency Notes:		Supplier Product Supplier Notes: I	Code: Horace Small : ncludes 15 buttons	# HS1176	

B120219-LD12-01 Group H - Sho Model #8446-45	ort Sleeve Shirt, Blauer	Supershirt : Short	t Sleeve Shirt, Blau	er Super	shirt
Supplier	Unit Price Qty/Unit Total				Docs
GT Distributors, Inc. [Ad]	First Offer - \$0.00	100 / each	\$0.00	Na Allen	Y
		Supplier Product Supplier Notes: N			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$69.50	100 / each	\$6,950.00		Y
Product Code:		Supplier Product Code: Blauer # 8446 Supplier Notes:			

B120219-LD12-02 Group H - She Model #8446-45	ort Sleeve Shirt, Blaue	Supershirt : Shor	t Sleeve Shirt, Blau	er Super	shirt	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$0.00	50 / each	\$0.00		Y	
Product Code: Unit Amount Text: NO BID Total Amount Text: NO BID Agency Notes:		Supplier Product Code: Supplier Notes: NO BID				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$76.45	50 / each	\$3,822.50		Y	
Product Code:		Supplier Product Code: Blauer # 8446 Supplier Notes:				

B120219-LD12-03 Group H - Sh Model #8446-45	ort Sieeve Shirt, Biauer	Supershirt : Shor	t Sleeve Shirt, Blau	er Super	shirt	
Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$0.00	25 / each	\$0.00	Egyvalla ent	Y	
		Supplier Product Code: Supplier Notes: NO BID				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$83.40	25 / each	\$2,085.00	8 9 9 9 9	Y	
Product Code:		Supplier Product Code: Blauer # 8446 Supplier Notes:				

B120219-LD12-04 Group H Model #8446-45	- Short Sleeve Shirt, Blauer	Supershirt : Shor	t Sleeve Shirt, Blau	er Super	shirt
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$0.00	25 / each	\$0.00		Y

Product Code: Unit Amount Text: NO BID Total Amount Text: NO BID Agency Notes:		Supplier Product Code: Supplier Notes: NO BID			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$90.35	25 / each	\$2,258.75	Y	
Product Code: Unit Amount Text: Ninety thirty five Total Amount Text: Thwenty two hund seventy five Agency Notes:	red fifty eight and	Supplier Product Code: Blauer # 8446 Supplier Notes:			

B120219-LD12-05 Group H - Sh Model #8446W-45	ort Sieeve Shirt, Blaue	Supershirt : Short	t Sleeve Shirt, Blau	er Super	shirt
Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$0.00	100 / each	\$0.00		Y
Product Code: Unit Amount Text: NO BID Total Amount Text: NO BID Agency Notes:		Supplier Product Supplier Notes: N			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$69.50	100 / each	\$6,950.00	The Wales	Y
Product Code: Unit Amount Text: Sixty nine fifty Total Amount Text: Sixty nine hundred fifty Agency Notes:		Supplier Product Code: Blauer # 8446W Supplier Notes:			

B120219-LD12-06 Group H - She Model #8446W-45	ort Sleeve Shirt, Blauer	Supershirt : Shor	t Sleeve Shirt, Blau	er Super	shirt
Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$0.00	100 / each	\$0.00		Y
Product Code: Unit Amount Text: NO BID Total Amount Text: NO BID Agency Notes:		Supplier Product Supplier Notes: N			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$69.50	100 / each	\$6,950.00		Y
Product Code:		Supplier Product Code: Blauer # 8446W Supplier Notes:			

B120219-LD13-01 Group I - Lon Model #8436-45	g Sleeve Shirt, Blauer	Supershirt: Long S	ileeve Shirt, Blauer	Supersh	lrt	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$0.00	100 / each	\$0.00		Y	
		Supplier Product Code: Supplier Notes: NO BID				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$74.50	100 / each	\$7,450.00		Y	
Product Code:		Supplier Product Supplier Notes:	Code: Blauer # 8436			

B120219-LD13-02 Group I - Lo Model #8436-45	ng Sleeve Shirt, Blauer !	Supershirt: Long S	ileeve Shirt, Blauer	Supersh	irt	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$0.00	50 / each	\$0.00		Y	
Product Code:		Supplier Product Code: Supplier Notes: NO BID				

Agency Notes:				
Miller Uniforms & Emblems. Inc [Ad]	First Offer - \$81.95	50 / each	\$4,097.50	Y
Product Code: Unit Amount Text: Eighty one ninety fit Total Amount Text: Four thousand nine Agency Notes:	ve	Supplier Product Supplier Notes:	Code: Blauer # 8436	

Model #8436-45	ig Sleeve Shirt, Blauer :	supersimit. Long s	neeve Jill Ç biauei	Supersn	II L	
Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$0.00	50 / each	\$0.00		Y	
Product Code: Unit Amount Text: NO BID Total Amount Text: NO BID Agency Notes:		Supplier Product Code: Supplier Notes: NO BID				
		CO. CHARLES ESCHOLARIZATION		Company of the last	10.484	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$81.95	50 / each	\$4,097.50		Y	

B120219-LD13-04 Group I - Lon Model #8436-45	g Sleeve Shirt, Blauer	Supershirt: Long S	ileeve Shirt, Blauer	Supersh	irt	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$0.00	50 / each	\$0.00		Y	
		Supplier Product Code: Supplier Notes: NO BID				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$89.40	50 / each	\$4,470.00		Y	
Product Code:		Supplier Product Code: Blauer # 8436 Supplier Notes:				

B120219-LD13-05 Group I - Lon Model #8436W-45 Female	g Sleeve Shirt, Blauer	Supershirt: Long S	leeve Shirt, Blauer	Supersh	irt	
Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$0.00	100 / each	\$0.00	Figure 1 to 1	Y	
		Supplier Product Code: Supplier Notes: NO BID				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$74.50	100 / each	\$7,450.00		Y	
Product Code:		Supplier Product Code: Blauer # 8436W Supplier Notes:				

Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$0.00	100 / each	\$0.00		Y	
Product Code: Unit Amount Text: NO BID Total Amount Text: NO BID Agency Notes:		Supplier Product Code: Supplier Notes: NO BID				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$74.50	100 / each	\$7,450.00	() () () () () () () () () () () () () (Y	
Product Code: Unit Amount Text: Seventy four fifty		Supplier Product Code: Blauer # 8436W Supplier Notes:				

Total Amount Text: Seventy four hundred fifty
Agency Notes:

B120219-LD14-01 Group J - Short Streetshirt Model #8472-45	Sleeve Shirt, Blauer	Streetshirt Model	: Short Sleeve Shir	t, Blauer		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$0.00	200 / each	\$0.00		Y	
		Supplier Product Code: Supplier Notes: NO BID				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$47.50	200 / each	\$9,500.00		Y	
Product Code:		Supplier Product Code: Blauer # 8472 Supplier Notes:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$0.00	50 / each	\$0.00	Attai.	Y	
Product Code: Unit Amount Text: NO BID Total Amount Text: NO BID Agency Notes:		Supplier Product Code: Supplier Notes: NO BID				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$61.75	50 / each	\$3,087.50		Y	
Product Code:		Supplier Product Supplier Notes:	Code: Blauer # 8572			

B120219-LD-14-03 Group J - Sho Streetshirt Model #8472-45	rt Sleeve Shirt, Blauer	Streetshirt Model	: Short Sleeve Shir	t, Blauer	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$0.00	50 / each	\$0.00		Y
Product Code: Unit Amount Text: NO BID Total Amount Text: NO BID Agency Notes:		Supplier Product Supplier Notes: N			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$71.25	50 / each	\$3,562.50		Y
Product Code: Unit Amount Text: Seventy one twenty Total Amount Text: Thirty five hundred Agency Notes:	y five	Supplier Product Supplier Notes:	Code: Blauer # 8472		

B120219-LD15-01 Group K - Lor Model #8471-45	g Sleeve Shirt, Blauer	Streetshirt : Long	Sleeve Shirt, Blaue	r Streets	hirt
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$0.00	200 / each	\$0.00		Y
Product Code: Unit Amount Text: NO BID Total Amount Text: NO BID Agency Notes:		Supplier Product Code: Supplier Notes: NO BID			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$55.50	200 / each	\$11,100.00		Y
Product Code: Unit Amount Text: Fifty five fifty Total Amount Text: Eleven thousand o Agency Notes:	ne hundred	Supplier Product Supplier Notes:	Code: Blauer # 8471		

B120219-LD--15-02 Group K - Long Sleeve Shirt, Blauer Streetshirt : Long Sleeve Shirt, Blauer Streetshirt

Model #8471-45					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$0.00	50 / each	\$0.00		Y
Product Code: Unit Amount Text: NO BID Total Amount Text: NO BID Agency Notes:		Supplier Product Code: Supplier Notes: NO BID			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$72.15	50 / each	\$3,607.50		Y
Product Code: Unit Amount Text: Seventy two fifteer Total Amount Text: Thirty six hundred Agency Notes:	1	Supplier Product Supplier Notes:	Code: Blauer # 8471		

B120219-LD15-03 Group K - Lor Model #8471-45	ng Sleeve Shirt, Blauer	Streetshirt : Long	Sleeve Shirt, Blaue	r Streets	hirt
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$0.00	50 / each	\$0.00		Y
Product Code: Unit Amount Text: NO BID Total Amount Text: NO BID Agency Notes:		Supplier Product Supplier Notes: N			
Miller Uniforms & Emblems. Inc [Ad]	First Offer - \$83.25	50 / each	\$4,162.50	70.0,67	Y
Product Code: Unit Amount Text: Eighty three twenty Total Amount Text: Fourty one hundre Agency Notes:	/ five	Supplier Product Supplier Notes:	Code: Blauer # 8471		

B120219-LD16-01 Group L - Bla	AND DESCRIPTION OF THE PROPERTY OF THE PROPERT		#8470-45		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$60.93	200 / each	\$12,186.00		Y
Product Code: Unit Amount Text: sixty dollars and ni Total Amount Text: twelve thousand of	inety three cents	Supplier Product Supplier Notes: B	idding Elbeco V1312		
dollars and zero cents	one number eighty six				
dollars and zero cents Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$87.50	200 / each	\$17,500.00		Y

B120219-LD16-02 Group L - Bla	uer Armorskin: Blauer A	rmorskin Model #	#8470-45		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$60.93	50 / each	\$3,046.50		Y
Product Code: Unit Amount Text: sixty dollars and ni Total Amount Text: three thousand fo cents Agency Notes:		Supplier Product Supplier Notes: E	Code: Bidding Elbeco V1312		
Milier Uniforms & Emblems, Inc [Ad]	First Offer - \$113.75	50 / each	\$5,687.50	STATE TO	Y
Product Code: Unit Amount Text: One hundred thirte Total Amount Text: Fifty six hundred e Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 847	0	

B120219-LD16-03 Group L - I	Blauer Armorskin: Blauer A	rmorskin Model #	#8470-45		E SECULO
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$60.93	50 / each	\$3,046.50	A BANGOW	Y
Product Code: Unit Amount Text: sixty dollars and		Supplier Product Supplier Notes: E	Code: Bidding Elbeco V1312		

Total Amount Text: three thousand fo cents Agency Notes:	rty six dollars and fifty			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$131.25	50 / each	\$6,562.50	Y
Product Code: Unit Amount Text: One hundred thirty Total Amount Text: Sixty five hundred Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 8470	in a

B120219-LD17-01 Group M - Bla Model #174-11	nuer Armorskin Suspen	sion System: Blau	er Armorskin Susp	ension S	ystem
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$0.00	300 / each	\$0.00		Υ
Product Code: Unit Amount Text: NO BID Total Amount Text: NO BID Agency Notes:		Supplier Product Supplier Notes: N			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$34.50	300 / each	\$10,350.00	ans/Avan	Y
Product Code: Unit Amount Text: Thirty four fifty Total Amount Text: Ten tousand three Agency Notes:	hundred fifty	Supplier Product Supplier Notes:	Code: Blauer # 174-	11	Wes

#105W8404, Female : Long Sleeve Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	50 / each	\$2,466.00		Y
Product Code: Unit Amount Text: forty nine dollars a Total Amount Text: two thousand four and zero cents		Supplier Product Supplier Notes: A			
Agency Notes:					
Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$67.50	50 / eaçh	\$3,375.00	I	Y

B120219-LD18-02 Group N - Lo #105W8404, Female : Long Sieeve	ng Sleeve Shirt, Fechhe Shirt, Fechhelmer Flyir	elmer Flying Cross ng Cross Model #1	Model #05W8404, 05W8404, Female	Male/	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$49.32	50 / each	\$2,466.00		Y
Product Code: Unit Amount Text: forty nine dollars a Total Amount Text: two thousand fou and zero cents Agency Notes:		Supplier Product Supplier Notes: A			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$67.50	50 / each	\$3,375.00		Y
Product Code: Unit Amount Text: Sixty seven fifty		Supplier Product Supplier Notes: P	Code: Fechheimer #		

B120219-LD—19-01 Group O #155R8404, Female : Short Sie	- Short Sleeve Shirt, Fechho eeve Shirt, Fechhelmer Flyin	elmer Flying Cross og Cross Model #5	s Model #55R8404, 5R8404, Male	Male/	
Supplier	AND PROPERTY OF THE PARTY OF TH	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	50 / each	\$2,134.50		Y
Product Code:		Supplier Product	Code:		

Unit Amount Text: forty two dollars ar Total Amount Text: two thousand one dollars and fifty cents Agency Notes:	d sixty nine cents hundred thirty four	Supplier Notes: A	s specified	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$61.50	50 / each	\$3,075.00	Y
Product Code: Unit Amount Text: Sixty one fifty Total Amount Text: Three thousand se Agency Notes:	eventy five	Supplier Notes: Pr	Code: Fechheimer # 55R rices includ concealed zipp ns. Stock sizes only. Non s	ers, any and

B120219-LD19-02 Group O - Sh #155R8404, Female : Short Sleeve	ort Sleeve Shirt, Fechh Shirt, Fechhelmer Flyin	elmer Flying Cross ng Cross Model #1	s Model #55R8404, 55R8404, Female	Male/	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$42.69	50 / each	\$2,134.50		Y
Unit Amount Text: forty two dollars at Total Amount Text: two thousand one dollars and fifty cents Agency Notes:		Supplier Product Supplier Notes: A			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$61.50	50 / each	\$3,075.00		Y
Product Code: Unit Amount Text: Sixty one fifty Total Amount Text: Three thousand so Agency Notes:	eventy five	Supplier Notes: P	Code: Fechheimmer rices includ concealed ns. Stock sizes only.	zippers,a	ny and

B120219-LD-20-01 Group P - She Sleeve Shirt, Fechheimer Flying Cro	ort Sleeve Shirt, Fechhoss Model #85R7000Z, I	eimer Flying Cross Maie	Model #85R7000Z	, Male : \$	Short	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$50.71	50 / each	\$2,535.50	200	Y	
Product Code: Unit Amount Text: fifty dollars and set Total Amount Text: two thousand five dollars and fifty cents Agency Notes:		Supplier Product Supplier Notes: A				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$52.50	50 / each	\$2,625.00	SVOVE S. F	Y	
Miller Uniforms & Emblems, Inc [Ad] First Offer - \$52.50 Product Code: Unit Amount Text: Fifty two fifty Total Amount Text: Twenty six hundred twenty five Agency Notes:		Supplier Product Code: Fechheimer # 85R7000Z Supplier Notes: Non stock special cut item. 90 day initi delivery. Mfg. requires 1200 yard minimum fabric purchase. County must commit to enough pcs. per year. Prices include custom alterations such as tails & sleeves adjusted due to unisex sizing. Required by almost every female				

B120219-LD21-01 Group Q - Tro Trousers, Fechhelmer Flying Cross i	ousers, Fechhelmer Fly Model #47281	Ing Cross Model #	47281, Male/#472	91, Fema	le:
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$54.94	50 / each	\$2,747.00		Y
Unit Amount Text: fifty four dollars an Total Amount Text: two thousand sev dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: A			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$67.50	50 / each	\$3,375.00		Y
Product Code: Unit Amount Text: Sixty seven fifty Total Amount Text: Three thousand th Agency Notes:	nree hundred seventy five	Supplier Notes: P	Code: Fechheimer # rices include any and sizes only. Non stock s	all custon	

	Q - Trousers, Fechhelmer Flyl Cross Model #47291, Female/			91, Fema	le:
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
			The December of the State of th	PARTITION OF	Sec. 5(304)//

Product Code: Unit Amount Text: Sixty seven fifty Total Amount Text: Three thousand th Agency Notes:		Supplier Notes: Pr	Code: Fechheimer # 4729 rices include any and all co zes only. Non stock sizes	ustom
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$67.50	50 / each	\$3,375.00	Y
Product Code: Unit Amount Text: fifty four dollars an Total Amount Text: two thousand sev dollars and zero cents Agency Notes:	d ninety four cents en hundred forty seven	Supplier Product Supplier Notes: A		
GT Distributors, Inc. [Ad]	First Offer - \$54.94	50 / each	\$2,747.00	Y

B120219-LD22-01 Group R - Tro Male/#39310 with T-11 cargo pock cargo pockets, Male	ousers, Fechhelmer Fly ets, Female: Trousers,	ing Cross Model #: Fechhelmer Flying	39310 with T-11 ca g Cross Model #393	rgo pock 10 with	ets, T-11
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$50.36	50 / each	\$2,518.00	1221151	Y
Product Code: Unit Amount Text: fifty dollars and thi Total Amount Text: two thousand five and zero cents Agency Notes:		Supplier Product Supplier Notes: A			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$64.50	50 / each	\$3,225.00		Y
Product Code: Unit Amount Text: Sixty four fifty Total Amount Text: Thirty two hundre Agency Notes:	d twenty five	Supplier Notes: P	Code: Fechheimer #: rices include any and izes only. Non stock s	all custon	

B120219-LD—22-02 Group R - Tro Male/#39310 with T-11 cargo pock cargo pockets, Female	ousers, Fechhelmer Fly lets, Female: Trousers,	ng Cross Model #: Fechheimer Flying	39310 with T-11 ca g Cross Model #393	rgo pock 60 with	ets, T-11
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$50.36	50 / each	\$2,518.00		Y
Product Code: Unit Amount Text: fifty dollars and thi Total Amount Text: two thousand five and zero cents Agency Notes:	rty six cents hundred eighteen dollars	Supplier Product Supplier Notes: A			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$64.50	50 / each	\$3,225.00		Y
Product Code: Unit Amount Text: Sixty four fifty Total Amount Text: Thirty two hundre Agency Notes:	d twenty five	Supplier Notes: Pr	Code: Fechheimer # rices include any and izes only. Non stock s	all custon	

B120219-LD23-01 Group S - Tle	s: Ties, Color: Dark Br	own - Standard, 18	3"		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$3.49	150 / each	\$523.50		Y
Product Code: Unit Amount Text: Three dollars and for Total Amount Text: five hundred twen cents		Supplier Product (Supplier Notes: Bi	code: dding Samuel Broom	e 90001-5	
Agency Notes:					
Agency Notes: Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$3.70	150 / each	\$555.00		Ý

B120219-LD-23-02 Group S - Ties: Tie	es, Color: Dark Bro	own - Extra Long,	22"	EMAN THE T	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

GT Distributors, Inc. [Ad]	First Offer - \$3.98	50 / each	\$199.00	Y
Product Code: Unit Amount Text: three dollars and nir Total Amount Text: one hundred ninety cents Agency Notes:		Supplier Product C Supplier Notes: Bid *only available in 3.5	lding Samuel Broome 9006	53-5
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$5.00	50 / each	\$250.00	Y
Product Code: Unit Amount Text: Five Total Amount Text: Two hundred fifty Agency Notes:		Supplier Product C Supplier Notes:	ode: Ties x-long	

B120219-LD24-01 Group T - Me	n' & Women's Long-Si	eeve Lab Coats: W	omen's Lab Coats,	Color: W	hite
Supplier	Unit Price		Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$17.49	10 / each	\$174.90		Y
Product Code: Unit Amount Text: seventeen dollars a Total Amount Text: one hundred seve ninety cents Agency Notes:		Supplier Product Supplier Notes: R	Code: ed Kap KP10 (mens)	KP11 (lad	lies)
Agency notes.					
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$18.50	10 / each	\$185.00	I	Y

B120219-LD24-02 Group T - Me	n' & Women's Long-Si	eeve Lab Coats: Mo	en's Lab Coats, Col	or: White	
Supplier	Unit Price	ce Qty/Unit Total Price Attch			
GT Distributors, Inc. [Ad]	First Offer - \$17.49	10 / each	\$174.90		Y
Product Code: Unit Amount Text: seventeen dollas a Total Amount Text: one hundred seve ninety cents Agency Notes:		Supplier Product Supplier Notes: R	Code: ed Kap KP10 (mens)	KP11 (laid	des)
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$18.50	10 / each	\$185.00		Y
Product Code:	The second secon	.50 10 / each \$185.0 Supplier Product Code: Men's lab c Supplier Notes:			

B120219-LD25-01 Group U - Bat Green	ttle Dress Uniforms (Bl	DU): Trousers, BDL	J (Stock), Color: Bl	ack, Bro	wn, or
Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$28.43	100 / each	\$2,843.00	2017	Y
Product Code: Unit Amount Text: twenty eight dollars Total Amount Text: two thousand eight dollars and zero cents Agency Notes:		colors 001 -Black at Part# FS20138 (pol Brown and 024 Gre	idding Propper FS201 nd 330-Green ly/cotton) is available	in colors	200-
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$32.50	100 / each	\$3,250.00		Y
Product Code: Unit Amount Text: Thirty two fifty Total Amount Text: Thirty two hundred fifty Agency Notes:		Supplier Product Code: Propper # F5201-38 Supplier Notes:			

B120219-LD25-02 Group U - Battle Dress Uniforms (BDU): Shirts, BDU (Stock), Color: Black Brown, Green						or
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs

Product Code: Unit Amount Text: Thirty two fifty Total Amount Text: Thirty two hundred Agency Notes:	1 fifty	Supplier Product Code: Propper # F5452-38 Supplier Notes:			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$32.50	100 / each	\$3,250.00	Y	
Product Code: Unit Amount Text: twenty eight dollars and forty three cents Total Amount Text: two thousand eight hundred forty three dollars and zero cents Agency Notes:		Supplier Product Code: Supplier Notes: Propper FS45238 Colors 001-Black 330-Green 200-Brown			
GT Distributors, Inc. [Ad]	First Offer - \$28.43	100 / each	\$2,843.00	Y	

B120219-LD26-01 Group V - K-9	and SWAT Battle Dres	ss Uniforms (BDU)	: K-9 and SWAT BD	U Shirts	On the second	
Supplier	Unit Price	The state of the s	Total Price		Docs	
GT Distributors, Inc. [Ad]	First Offer - \$0.00	50 / each	\$0.00		Y	
		Supplier Product Code: Supplier Notes: NO BID				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$68.50	50 / each	\$3,425.00		Y	
Product Code: Unit Amount Text: Sixty eight fifty Total Amount Text: Thirty four hundre Agency Notes:		Supplier Product Code: Biauer # 8730-28 Supplier Notes:				

B120219-LD-26-02 Group V - K-9	and SWAT Battle Dres	ss Uniforms (BDU)	: K-9 and SWAT BD	U Pants		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$0.00	50 / each	\$0.00		Y	
		Supplier Product Code: Supplier Notes: NO BID				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$54.50	50 / each	\$2,725.00		Y	
Product Code:		Supplier Product Code: Blauer # 8830-28 Supplier Notes:				

B120219-LD27-01 Group W - Tr	aining Uniforms: Traini	ing Uniforms Short	Sleeve Polo		
Supplier	Unit Price		Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$46.19	50 / each	\$2,309.50		Y
Product Code: Unit Amount Text: forty six dollars and Total Amount Text: two thousand thre dollars and fifty cents Agency Notes:		Supplier Product Supplier Notes: V	ertx by Fechheimer V	/TX4000R	DP
and the second of the second o	First Off 450.00	and the state of t			
Miller Uniforms & Emblems, Inc [Ad] First Offer - \$58.99 Product Code: Unit Amount Text: Fifty eight and ninety nine Total Amount Text: Twenty nine hundred fourty nine and fifty Agency Notes:		50 / each	\$2,949.50		Y

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Doc
GT Distributors, Inc. [Ad]	First Offer - \$43.81	50 / each	\$2,190.50	V partiya.	Y
Unit Amount Text: forty three do Total Amount Text: two thousan and fifty cents Agency Notes:	llars and eighty one cents	Supplier Product Supplier Notes: V	ertx by Fechheimer V	TX8000K	H

Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$49.99	50 / each	\$2,499.50	Y
Product Code: Unit Amount Text: Fourty nine and nin Total Amount Text: Twenty four hundr Agency Notes:	ety nine	Supplier Product Supplier Notes:	Code: Vertx #VTX8000	

B120219-LD28-01 Group X - W S-XL	inter Jacket, Brown, Bla	uer Modei #6120:	Winter Jacket, Bro	wn or B	lack -
Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$112.14	200 / each	\$22,428.00		Y
Product Code: Unit Amount Text: one hundred twelvents Total Amount Text: twenty two thous eight dollars and zero cents Agency Notes:		Supplier Product Supplier Notes: F	echheimer 59131WP		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$139.50	200 / each	\$27,900.00		Y
Product Code: Unit Amount Text: One hundred thirty Total Amount Text: Twenty seven tho Agency Notes:		.50 200 / each \$27,900.00 Supplier Product Code: Blauer # 612 Supplier Notes:		0	

B120219-LD28-02 Group X - WI XXL	nter Jacket, Brown, Bla	uer Model #6120:	Winter Jacket, Bro	wn or B	lack -
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$112.14	75 / each	\$8,410.50		Y
Product Code: Unit Amount Text: one hundred twelvecents Total Amount Text: eight thousand for fifty cents Agency Notes:			Fechheimer 59131WP		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$139.50	75 / each	\$10,462.50		· Y
Product Code:		Supplier Product Code: Blauer # 6120 Supplier Notes:			

B120219-LD28-03 Group X - W XXXL	inter Jacket, Brown, Bla	uer Modei #6120:	: Winter Jacket, Bro	wn or B	lack -
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$112.14	20 / each	\$2,242.80		Y
Product Code: Unit Amount Text: one hundred twelv cents Total Amount Text: two thousand two and eigthy cents Agency Notes:		Supplier Product Supplier Notes: F	echheimer 59131WP		
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$139.50	20 / each	\$2,790.00	inici Cov	Y
Product Code: Unit Amount Text: One hundred thirty Total Amount Text: Twenty seven hur Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 612	0	

B120219-LD28-04 Group X · XXXXL	- Winter Jacket, Brown, Bia	uer Model #6120:	Winter Jacket, Bro	wn or B	ack -
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GT Distributors, Inc. [Ad]	First Offer - \$112.14	10 / each	\$1,121.40	Section Control	Y
Product Code: Unit Amount Text: one hundred to		Supplier Product Supplier Notes: F	Code: eccheimer 59131WP		

Product Code: Unit Amount Text: One hundred eight Total Amount Text: Eighteen hundred Agency Notes:		Supplier Product Supplier Notes:	Code: Blauer # 6120	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$181.35	10 / each	\$1,813.50	Y
cents Total Amount Text: one thousand one dollars and forty cents Agency Notes:	hundred twenty one			

B120219-LD29-01 Group Y - Pat	troi Jackets: Patroi Jack	ets	Elw Land Control	de la	STATE OF STREET
Supplier	Unit Price	e Qty/Unit Total Price Attch.			
GT Distributors, Inc. [Ad]	First Offer - \$216.67	7 200 / each \$43,334.00			
Product Code: Unit Amount Text: two hundred sixtee cents Total Amount Text: forty three thousa four dollars and zero cents Agency Notes:		NFPA 1999 2003 E	Code: The Blauer 9910Z has dition- The only curre Blauer 9910Z is not f	nt edition	NFPA
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$307.00	200 / each	\$61,400.00		Y
Product Code: Unit Amount Text: Three hundred sev Total Amount Text: Sixty one thousan		Supplier Product Code: Blauer # 9910Z Supplier Notes:)Z	

Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs	
GT Distributors, Inc. [Ad]	First Offer - \$0.00	50 / each	\$0.00		Y	
Product Code: Unit Amount Text: NO BID Total Amount Text: NO BID Agency Notes:		Supplier Product Code: Supplier Notes: NO BID				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$68.95	50 / each	\$3,447.50	Section 1	Y	
Product Code: Unit Amount Text: Sixty eight and ninety five Total Amount Text: Thirty four hundred fourty seven and fifty Agency Notes:		Supplier Product Code: Wrangler # 00082BN/BK Supplier Notes:				

B120219-LD31-01 Group AA - R	eversibie Raincoats: Re	versibie Raincoats				
Supplier	Unit Price	e Qty/Unit Total Price Attch.				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$171.00	125 / each	\$21,375.00	Tel Po	Y	
		Supplier Product Code: Blauer # 733 Supplier Notes:				
GT Distributors, Inc. [Ad]	First Offer - \$176.38	125 / each	\$22,047.50		Υ	
Product Code:		Supplier Product Code: Supplier Notes: Fechheimer 76120				

B120219-LD-31-02 Group AA - Re	eversible Raincoats: Rev	versible Raincoats			N. Jak
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$171.00	25 / each	\$4,275.00		Y
Product Code: Unit Amount Text: One hundred sever		Supplier Product Supplier Notes:	Code: Blauer # 733		

Total Amount Text: Fourty two i Agency Notes:	nundred seventy five			
GT Distributors, Inc. [Ad]	First Offer - \$176.38	25 / each	\$4,409.50	Y
Product Code: Unit Amount Text: one hundred eight cents Total Amount Text: four thousar fifty cents Agency Notes:	seventy six dollars and thirty	Supplier Product Supplier Notes: Fo		

B120219-LD31-03 Group AA - R	eversible Raincoats: Re	versibie Raincoats				
Supplier	Unit Price	e Qty/Unit Total Price Attch.				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$171.00	25 / each	\$4,275.00		Y	
		Supplier Product Code: Blauer # 733 Supplier Notes:				
GT Distributors, Inc. [Ad]	First Offer - \$176.38	25 / each	\$4,409.50		Y	
Product Code: Unit Amount Text: one hundred seven eight cents Total Amount Text: four thousand four cents Agency Notes:		Supplier Product Supplier Notes: F				

B120219-LD31-04 Group AA - R	eversibie Raincoats: Re	versibie Raincoats			
Supplier	Unit Price	e Qty/Unit Total Price Attch.			
GT Distributors, Inc. [Ad]	First Offer - \$176.38	25 / each	\$4,409.50		Y
Product Code: Unit Amount Text: eventy six dollars a Total Amount Text: four thousand fou cents Agency Notes:		Supplier Product Supplier Notes: F			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$222.30	25 / each	\$5,557.50		Y
Product Code: Unit Amount Text: Two hundred twenty two and thirty Total Amount Text: Fifty five hundred fifty seven and fifty Agency Notes:		Supplier Product Code: Blauer # 733 Supplier Notes:			

the second state of the second		eversible Raincoat			No. of the last
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$49.50	50 / each	\$2,475.00		Y
Product Code: Unit Amount Text: Fourty nine fifty Total Amount Text: Twenty four hund Agency Notes:	red seventy five	Supplier Product Supplier Notes:	Code: Neese # 447R	SC	
GT Distributors, Inc. [Ad]	First Offer - \$56.47	50 / each	\$2,823.50		Y
		Supplier Product Code: Supplier Notes: Neese 447RSC			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$53.00	50 / each	\$2,650.00		Y	
Product Code:		Supplier Product Code: Neese # 447RSC Supplier Notes:				

GT Distributors, Inc. [Ad]	First Offer - \$62.12	50 / each	\$3,106.00	Y
Product Code:		Supplier Product	Code:	(E. 1) (A. 1) (A. 1)
Unit Amount Text: sixty two doll		Supplier Notes: N		
Total Amount Text: three thousa	nd one hundred six dollars			
and zero cents				
Agency Notes:				

B120219-LD32-01 Group BB - Be	eits: Beits				
Supplier	Unit Price Qty/Unit Total Price Attch.				Docs
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$14.25	300 / each	\$4,275.00	SCALE STATE	Y
Product Code: Unit Amount Text: Fourteen and twent Total Amount Text: Fourty two hundre Agency Notes:		Supplier Product (Supplier Notes:	Code: Dutyman # 16	5110	
GT Distributors, Inc. [Ad]	First Offer - \$15.60	300 / each	\$4,680.00		Υ
Product Code:		Supplier Product Code: Supplier Notes: as specified			

B120219-LD32-02 Group BB - Be	eits: Beits				
Supplier	Unit Price	Qty/Unit	Attch.	n. Docs	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$16.25	100 / each	\$1,625.00		Y
Product Code: Unit Amount Text: Sixteen and twenty Total Amount Text: Sixteen hundred t Agency Notes:	five	Supplier Product Supplier Notes:	Code: Dutyman # 16	511U	
GT Distributors, Inc. [Ad]	First Offer - \$19.14	100 / each	\$1,914.00		Y
Product Code:		Supplier Product Code: Supplier Notes: as specified			

B120219-LD32-03 Group BB - Be	eits: Beits				liavas.
Supplier	Unit Price	ce Qty/Unit Total Price Atto			
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$17.25	100 / each	\$1,725.00		Y
Product Code: Unit Amount Text: Seventeen and twe Total Amount Text: Seventeen hundre Agency Notes:		Supplier Product Supplier Notes:	Code: Dutyman # 16	5110	
GT Distributors, Inc. [Ad]	First Offer - \$20.58	100 / each \$2,058.00 Y			
Product Code:		Supplier Product Code: Supplier Notes: as specified			

B120219-LD33-01 MSRP Discour	nts: MSRP discount for	Blauer					
Supplier	Unit Price	Price Qty/Unit Total Price		Attch.	Docs		
GT Distributors, Inc. [Ad]	First Offer - \$20.00	1 / percentage	\$20.00		Y		
Product Code: Unit Amount Text: twenty percent Total Amount Text: twenty percent Agency Notes:	unt Text: twenty percent punt Text: twenty percent		Supplier Product Code: Supplier Notes: Fechheimer 20% off MSRP				
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$24.00	1 / percentage	\$24.00		Y		
Product Code: Unit Amount Text: Twenty four Total Amount Text: Twenty four		Supplier Product Code: Blauer Supplier Notes:					

A	Makes
Agency	notes:

B120219-LD33-02 MSRP Discou	nts: MSRP discount for	Horace Small				
Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs	
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$10.00	1 / percentage	\$10.00	Makes	Y	
Product Code: Unit Amount Text: Ten Total Amount Text: Ten Agency Notes:		Supplier Product Code: Horace Small Supplier Notes:				
GT Distributors, Inc. [Ad]	First Offer - \$20.00 1 / percentage \$20.00			Υ		
Product Code: Unit Amount Text: twenty percent Votal Amount Text: twenty percent Votal Amount Text: twenty percent Votal Notes:		Supplier Product Code: Supplier Notes: Elbeco 20% off MSRP				

B120219-LD34-01 Set up/Digiti:	zing Fee For Direct Em	broidery: Set up/i	Digitizing Fee For Di	irect Emi	broider
Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs
Miller Uniforms & Emblems, Inc [Ad]	First Offer - \$0.00	1 / each	\$0.00		Y
		Supplier Product Code: Supplier Notes:			
GT Distributors, Inc. [Ad] First Offer - \$80.00		1 / each	\$80.00		Y
Product Code: Unit Amount Text: eighty dollars		Supplier Product Supplier Notes: a			
		eighty dollars each logo			

Supplier Totals

GT Distribut	ors, Inc. [Ad]	\$1,021,683.	70 (140/140 items)
Bid Contact	William J Orr, Jr. txbids@qtdlst.com Ph 800-252-8310 Fax 800-480-5845	Address P.O. Box 16080 Austin, TX 78761	
Qualifications	SB TX		
Agency Notes:		Supplier Notes:	
Miller Unifor	ms & Emblems, Inc [Ad]	\$1,515,957.0	00 (140/140 items)
Bid Contact	Keith Miller keithmiller@milleruniforms.com Ph 512-302-5541	Address 650 Canlon St. Austin, TX 78752	
Qualifications	SB		
Agency Notes	n de la companya de	Supplier Notes:	